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RAN2 has looked at the questions and encloses its responses below.

SA4 is interested to understand the range of residual bit error ratios of the RTP payload carried over a radio bearer configuration that carries RTP/UDP/IP packets compressed with ROHC while simultaneously the UDP checksum is not used (i.e., disabled). SA4 assumption is that the lower limit of the residual bit error ratio is given by the functional limits of ROHC. 

These functional limits are based on the implementation. ROHC uses an internal CRC of length 3-8 bits. The performance of ROHC depends on how often this CRC is present or not, and what the size of the CRC is. 

To be more explicit, SA4 understanding is that there is a requirement from the ROHC algorithm for a minimum residual bit error ratio provided by the layers lower than PDCP. In case the residual bit error(s) happen to be in the compressed RTP/UDP/IP header, the packet (header and payload part) is discarded. 

Yes, this would be detected by the internal ROHC CRC, if included, as decompression would fail.

In case the residual bit error(s) are in the payload and UDP checksum is not used, the packet will be delivered to the higher layers with residual bit errors in the payload.

True.

Additionally, SA4 would like to request information on the range of residual bit error rates for RTP payloads when carried over radio bearers that carry RTP/UDP/IP packets compressed with ROHC. If this is not possible to be provided by RAN2, SA4 would consider it very helpful to receive information on the functional limits of the ROHC algorithm. What is the maximum tolerable residual bit error ratio provided to PDCP layer if ROHC is used?

The ROHC scope should be able to handle residual bit error ratios defined in 23.107 (10e–3 to 10e–6). With proper ROHC configuration also 10e-2 can probably be handled.










